	
	AEU  problemregning sygesæt august 2013.
	

	Opgave.
	Udregning.
	Resultat.
	Point.

	1.
	110 + 45 + 271 + 460
	=  886 stemmer
	3

	2.
	460 - 271
	=  189 stemmer
	3

	3.
	271 / 45
	=  6 gange
	3

	4.
	Se millimeterpapir
	=  A:45. D:18, IA:10, S:187
	6

	5.
	319 - 299
	= 20 kr.
	3

	6.
	(20 / 319) · 100
	=  6,3 %
	4

	7.
	319 / 24
	=  13,29 kr.
	4

	8.
	2000 – (24  · 60)
	=  560 g.
	4

	9.
	60  · 0,3
	=  18 g.
	4

	10.
	1150 / 230
	=  5 stk.
	4

	11.
	208 – 0,7  · 26
	=  189,8
	4

	12.
	Se millimeterpapir
	= (10,201), (30,187), (60,166)
	5

	13.
	200  · 5,64
	=  1128 kr.
	4

	14.
	(50 / 5) · 4 
	=  40 cm
	4

	15.
	7,5  · 2
	=  15 cm
	3

	16.
	π  · 122
	=  452,16 cm2
	4

	17.
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· π · 16 · (122 + 7,52 + 12 · 7,5)
	= 4860,72 cm3
	4

	18.
	π · 11 · (8 + 3,25)
	= 388,57 cm2
	4

	19.
	162 + 4,52 = s2 ( √276,25 = s
	= 16,6 cm
	4

	20.
	Se millimeterpapir
	= 
	6
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